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QUESTION 1

Which two are regarding the case of storageindexes?

A. To increase the chance of using the a storage index, you can make table indexes invisible.

B. To maximize the benefit of storage Indexes, load your data stored on the filtered columns.

C. The cell physical 10 bytes saved by storage index statistic returns multiple rows, one for each storage server.
D. Storage indexes are retained after a cell is rebooted.

E. Avoid the use of bind variables because Storage Indexes do not work with bind variables.

Correct Answer: BE

Explanation: B:* To use storage indexes, Oracle Exadata queries must use smart scans, so not all types of applications
can benefit from storage indexes. *With Exadata storage, database operations are handled much more efficiently.

Queries that perform table scans can be processed within Exadata storage with only the required subset of data
returned to the database server. Row filtering, column filtering and some join processing (among other functions) are
performed

within the Exadata storage cells. When this takes place only the relevant and required data is returned to the database
server.

Incorrect:
Not D:Storage indexes reside in the memory of the storage servers. If a storage cell is shutdown or rebooted the
storage index will be lost from memory and will be recreated on subsequent accesses to the data after the cell has been

brought

back online.

QUESTION 2

Consider the following list of software components:
1.DCLI

2.Management Server (MS)

3.ASM Instance

4. RDBMS instance

5.Restart Server (RS)

6.Cellcli

7.Cell Server (CELLSRV)

8.Diskmon
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Identify the location where these software components may run in the standard Database machine deployment.
A. 3, 4 and 8 run on the database servers; 1, 2, 5, 6 and 7 run on the Exadata Storage servers.

B. 4 and 8 run on the database servers; 1, 2, 3, 5, 6 and 7 run on the Exadata Storage servers.

C. 1, 3 and 4 run on the database servers; 2, 5, 6, 7 and 8 run on the Exadata Storage servers.

D. 3, 4 and 8 run on the database servers; 1, 2, 5, 6 and 7 run on the Exadata Storage servers.

E. 3, 4 and 8 run on the database servers; 1, 2, 5, 7 and 8 run on the Exadata Storage servers.

F. 1, 3, 4 and 8 run on the database servers; 1, 2, 5, 7 and 8 run on the Exadata Storage servers.

Correct Answer: B

Explanation: * (not C or notF):Exalogic includes a tool called DCLI (Distributed Command Line Interface) that can be
used to run the same commands on all or a subset of compute nodes in parallel.

*

Cellcli(not E): on Exadata Storage Servers.
*

RDBMS instance on database server.
*CELLSRVon Exadata Storage Servers.

*

ASM on Exadata Storage Servers(not D)

After an Oracle ASM instance has been installed on a single-instance Oracle Database or in an Oracle Real Application
Clusters (Oracle RAC) environment, the final Oracle ASM configuration can be performed.

QUESTION 3

Which statement is true about operating systems on database Machine multi-rack configuration consisting of two full
racks and one Exadata storage rack?

A. All Exadata storage servers and all database servers must run the Oracle Linux O/S and X3-8 database server may
run the Oracle Solaris O/S.

B. All Exadata storage servers must run the Oracle Linux O/S and all database servers within the same cluster must run
the Oracle Linux Ofs.

C. All Exadata storage servers must run the OracleLinuxO/S and all database servers within the same cluster must run
the same Ofs.

D. All Exadata Storage Servers must run the Oracle Solaris O/S and all database servers within the same cluster must
run the same O/S.

E. All Exadata storage servers in the same cluster must run the same O/S but Exadata Storage Servers in different
clusters may run a different O/S.
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Correct Answer: D
Note:

*QOracle Linux or Solaris based database server

QUESTION 4

You have used setupem.sh to deploy a plug in for Grid Control.

In which two ways do all the targets supported by the plug-in get configured?

A. The targets must be configured by an Enterprise Manager administrator manually using Grid Control.
B. Setupem.sh is used again to configure the targets.

C. The targets must be configured by an O/S administrator manually.

D. The targets must be configured by a database administrator manually.

E. There may be more than one target for each plug-in.

Correct Answer: AE

After unning the se-upem. snd,lcript:

~ The Cloud Contrcl Dﬂﬁﬂ Repository will be installed
-~ The Exadata plug-insg#ire deployed on the OMS

QUESTION 5

Which two are true concerning theallocation of 1/O resources by the IORM within the CELLSRYV process?

A. Control File I/O is managed automatically at high priority by IORM.

B. Control File I/O is considered part of the SYSTEM resource Consume group by IORM.

C. Log Writer 1/O to the Smart Flash Log is considered part of the SYSTEM resource consumer group by IORM.
D. Log Writer 1/O to the Smart Flash Log is managed automatically at high priority by IORM.

E. Database Writer 1/0 is managed automatically at normal priority by IORM.

F. Database Writer I/O is considered part of the SYSTEM resource consumer group by IORM.

Correct Answer: AE

Explanation: Note:

*IORM Rules
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IORM is only "engaged" when needed.

/ (A)Redo and control file writes always take precedence. / (E)DBWR(database writer)writes are scheduled at the same
priority as user 10. /IORM does not intervene if there is only one active consumer group on one database. /Any disk

allocation that is not fully utilized is made available to other workloads in relation to the configured resource plans.

/Background 10 is scheduled based on their priority relative to user 10. /For each cell disk, each database accessing the
cell has one 10 queue per consumer group and three background queues.

/Background 10 queues are mapped to "high", "medium", and "low" priority requests with different 10 types mapped to
each queue.

/If no intradatabase plan is set, all non-background 10 requests are grouped into a single consumer group called
OTHER_GROUPS.

Reference:Using IORM with Exadata
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